EEA BN TS ERES

i

& A BO® ATHHE| REEHE

wm Ml m 151.2 1510

B Lt & ¥ |4HE L=82km m 161.2 161.0
; Bt & 5 |xesBRtLst m 161.2 161.0 |
ROTRE-HE Cdiil 1.0 1.0
2 B I m 104.0 104.0
X & # K < | 10 1.0
@ 9 I |[xBio> % 30 3.0
FAW L I [XKBELDS 8 90 | 9.0
kK &= E [XEio3 #® 120 12.0 |-
B &% 4R [1.524:6.096 ¥ 0.022 ® 39.0 | 39.0

0.0







Ll

"

{28

0.0 0. 00

3.0 3.0/ 08 | 040 | 1.20

68.0 65.0 0.80 | 0.80 | 52.00

78.0 | 10.0| 4.00 | 240 | 24.00

93.0 15.0( 4.00 | 4.00 | 60.00
100.0 7.0, 0.00 | 2.00 | 14.00
100.0 0.0/ 0.00 0.00 0.00

it 100.0 151.20 0. 00

L




T 8% 2 & %
BT | KEEDS
1.0%3.0= 3.00 &%
EEIET
3.0%3= 9.00 |
2 I
2.0+100+2. 0= - 104.00 |m
R % &
3.0%4.0= 12.00 |%&




g 2191

0T @ F I ¢d 0°0T @ F
COF X e I 00T = 21/071 T 0°0T Ty
¢ @ F ‘ ) (I ZIGT / s
cormy | TEVE AT L
m& A\m H_H ) : mE
coTmy | TEHH = —m 1508
(FYy#E) T ¥ ¥ _ + ¥
(A =V ZEF
mg
= E p
T A & e 1 B
60 BT — - :
¢ 16T @ T
mE mdﬁ
@ F £ i | = @
ST
e 0P >M=32 ¢l 2161 @ T
mE . 0 mE =%
§e>M 218t I = 1=
GZ>M TH @ T
T+ = F (8 @
6°0 =NV ZEF

FHEET







ARG E S

BERIRER

BRSRARMEK
UHIREE

AR AR

360 X 0.108 =

39 #x 1.602 kg/t =

22 x 1524 x 6096







